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JE L R BN BOHER |FEEME | B & ® = ke B {ffi | B 5 B
1 EE% ZRA BHEX 1,108,000 309 394 2,812 3,586
2 FRACER ZRA BB 1,005,000 289 365 2,753 3,478
3 e Wy REA MR 991,000 306 357 2,776 3,239
4 EE# ZRA 5 g 976,000 292 381 2,562 3,342
5 [EWN:( ZEA JE7Mm8 | 961,000 285 380 2,529 3,372
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JIE iz R BOX | BOHER |FEMiE| B A E | keHiffi | B &b E(H
1 BEX ZRA 3 B g 1,206,000 287 297 4,061 4,202
2 =13 Btk ERE 979,000 271 302 3,242 3,613
3 XERE HEE g 940,000 298 304 3,092 3,154
4 B BT BHEX ZIEA 931,000 310 313 2,974 3,003
5 SR AR ZRA B B 922,000 315 365 2,526 2,927
TELEA RIS it (% BEE L (1588)
EifdA| B H (el |REME |FHMEE | FHaE | TERE|]  keBil| B & E(
XERE 25| 895,000 494,000 774,200 287 330 2,346 2,698
EE% 18| 1,108,000] 542,000| 787,444 293 334 2,358 2,688
WmhE 15|  862,000| 497,000| 751,067 296 332 2,262 2,537
EF1E 13| 877,000 678,000 794,154 289 347 2,289 2,748
SEHOHE 11| 991,000 666,000 869,636 300 333 2,612 2,899
FERES R BN S it (M EE%R L (1558)
EidA| BB N (el |[REME |[THMEE (FHEE | THRE| kel HEE
EKEEE 20| 940,000 228,000 676,900 298 292 2,318 2,271
ET1E 16|  762,000{ 352,000/ 663,313 289 312 2,126 2,295
FZE 12|  893,000{ 393,000| 618,333 304 295 2,096 2,034
EE# 8] 914,000 464,000 795,125 295 284 2,800 2,695
ERACER 8| 922,000 588000 793,875 297 323 2,458 2,673
S 8] 910,000 543,000 670,750 303 295 2,274 2,214
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% Al B # |meffts |RIEME |FHME | FHEE | TFHAE|  keBifl| B & Em
K 13|  877,000] 678,000 794,154 289 347 2,289 2,748
&HT 16|  762,000] 352,000| 663,313 289 312 2,126 2,295
&t 29| 877,000 352,000{ 721,966 289 327 2,205 2,498
F&EFEILEFDORE
e E i [BOXR BOHER |ZEME | B & * = ke B {if | Bt B4
=8 ibdb™d  [FE1fEE | FEXE 877,000 269 349 2,513 3,260
HY INRHET | RIEEA TR 762,000 300 336 2,268 2,540




